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Igunctlon A(n) {
inta=0;
inthb =0;
for (inti=0;1<n;i++){
at++;

¥
prlntf("HeIIo"),
for (intj=0;j<n;j++) {
for (int Kk = 0; k<n; k++) {
b++:
by

) E)rintf("WorId");
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#Fnclude<std|o h>
#include<stdlib.h>

int main()

ints t;
scanf("%d%d", &s,&t);
while (s < 30) {
iIf (s<100||s>50){
t++;

¥
else if (s > 60 && s<-1) {
t++;

¥
else if (s> 10 && s<100) {
t--;

else

t++;
system("pause");
return O;

}
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#include <iostream>
using namespace std;
class A {
public:
int testa;
A() :testa(100) {

virtual void f() {
cout << "apple" << endl;

L
void g() {
cout << "banana" << endl;
}
¥ _
class B : public A
{
public:
B() :testb(300) {}
void f() {
cout << "cat" << endl;
}
void g() {
cout << "dog" << endl;
¥
int testb;
L
int main()
{
B b:
A *a = &b;
a->g();
a->f();

cout << a->testa << endl;
cout << b.testb << endl;
system("pause™);

return O;
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#include<stdio.h>
#include<stdlib.h>

int main() {
inti,kl1=0,k2=0,k3=0;
char a[] = "aA123bd45YH*#*";
for (1=0; afi] '="\0"; i++)
iIf ((a[i] >="a' && a[i] <="2") || (a[i] >="A' && a[i] <="Z"))
k1l++:
else if ((a[i] >='0") && (a[i] <='9"))
k2++:
else
k3++:
printf("%d,%d,%d\n", k1, k2, k3);
system(“'pause");
return O;



